hath 10 Final Review

Ch, i. Number, Exponents, and Radicals
1. Determine whether each of the following is a perfect square, perfect cube, both or neither.

o a) 196 ) b8l __Ps c)343 __ PC
B ' | i
2. Determine whether each of the following is a rational or irrational number.
a) /289 = 7 'R b) square root of 141 = }]. B4 --- Ifmﬁbna-ﬁ
3. Evaluate usmg rime factorization. Show all work.
o V289 =[y7. 17 = 117 b) 45832 = ’fzS. 33.32=2.3.3=18
4. Write each expression with positive exponents only.
LA 2 3 -5
93t < 3 b) (—) = (_-) -
— 7 37 3 <232
X 4 2 Y
5. Simplify each expression. State the answer using positive exponents only.
a) {(4 273 )}23 4-'2 2{' b) (——3m2nX—4m“n'2} (imn ) (3 Viz
mn
= zb = 17 eyl = 12m"
2 12m%n " _ #ne
_ 7 ¥ mz
. d) 1\ €) 2Y 1
i 3 -= e 3 “2ps- -5:
o | (9973 A A g ||a are” - i
- oxt (2700 22 (31) .9 =ik
S A = _—
s (QIJZ 272 3
= 2 g
Ch. 2 Trigonometry: SOH-CAH-TOA 9L
1. Evatluate the following to the nearest hundredth.
a) an72° - 3 p@ b) sin42* = D 617 ¢) cos68° = /2 377
d) tan A = 2.580 e) sin A=0.4384 f) cos A =0.2079
A= 6B 8l° A=26.00° A=ngoo’
2. Find the unknown values to the nearest hundredth.
A ve 4
o an 3k’ =
A= 54' h'x & - 1234
=, 3 - 2 [
= 9.89 y D Y= §.1on36" = 57
] k J
y=5.81 = 2 XA= 180-90-36° = 5F
v £
Cos 36" =1

W=.8_ - g8585..
ey oS 369 Page 1 ol'§



Math 10 Final Review

= FA = Gl. 4 -

3. Solve the following angies and lengths to the nearest hundredth.

e D
JABC= GLa5® Sinze= BS Be=0-S1 35

S 10 = §.73576--:
o 12m i0m
LA:..HZEL,Q:5 60535;':& cpzﬁ.i‘?f52" W
1o -
BC= 5.74
Ac=/12* BC? = 1p.5%0 " cosA = e & P
AD= 1873 ape ppr AL = 1873197 =
= -t -~ / -
M= 268 (‘Tz') 28 5535
4. There is a building that is 12 feet away from the house. What is the height of the building if the angle of
depression to the bottom of the house is 40°. 5
- _433 T 'I'Dfl 409_: e
e 9 ia
‘%'f«z" ' ?. 12-tondd’ > ID.064--- feet
12° .
= 10.07 feet
Ch, 3 and 4. Polynomials and Factoring
1. Expand and simplify as much as possible, Order the terms correctly.
a) (x = 3)2x +1) b) (5m —-1)(2m —~ 3) ¢y (x+2)2x* - 5x+ 1)
= ATy H-6A -3 = {0m*_15m-2m T3 = A3_saa+4’
a = 294%*% 52-3 = 1omP-yim +3 WX +2
s:%i;“.’*iﬁ‘

= 23 y2_.@x +2

d) (x+ 14)x— 14) e) (y+ 10y f) (8-m)
= %*_ 194 = Y™+ 204 +100 = b4 ~ltom+m?=
= Mm% tem o4

2. Factor the polynomials. Write NF if not factorable.
D1se+ 107 = A5A* NF | b) 7a'b~28ab+ 14a  GLF= Tab
=ab(a* - 4 + av*)

¢) (x-4)+Sx-4)  GLF=(1-4) d) ¥ +8xy+2p+ 16
=(1-4)(31+5) NE
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+2% -2
e) O +6 ’f;‘ f) % - 29x + 28 Sq
NF 1,6] % (L-1)(x-28) -1-2% &
2.3 X%
2. Factor. _ “ch
DF-9 = (1 -3)(1+3) b 250-166 = (socac)( 50+ 4C)
56 5@
3
0) x‘~’~6x+\f= [(1-3)* d) 2% — 44x + 242
=2 (A*- 222 +121)
= 2(x-n)*
e) 16x" -4y = (41--:!3 )(41+23) f) o-36x = x(‘i?(’-.%)

= Z(3are )32 %)

Ch. 5, 6, and 7. Relations and Functions
1. Use the set notation to write the domain and range of each relation.

ay_ . _ b) )
U VN R O WO _ Y1 4
T TS
Domam {1] p 4 6'!?] Domain: {'x_lx :-I] Domain: g;(_ | D& :—..4-}
Range: igl ﬂ 2_.1] Range: iglﬁ?i} Range: Sfal 0.&%52}
2. For the function f{x)=3x+ 7, evaluate
9/(5)= 3(4) +7= 8 w2 = 3(-2)+7 O xif fy=34= 3247
' = +4 31= 237
=9
3. Forthe function g(x) =%x+ %, evaluate
Ded) = 3(5)+% bg-3) = -+ F ¢)x if glx) = % = Fat+3
z%_}%z%gz .":D #z:-g-é

313
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4. Use the slope formula to determine the slope of the line passing through each pair of points.

a) AZ, -1, B(3, 4) b) C0,7),D(-3,7) ) G(4,-2), H@, -5)
%WW M= 4+} - 5 m= '7""7 = Efm fin= —5-}1 = ﬂndf%
3-2 -3-0 =

5. Use the midpoint formula to determine the midpoint of the line passing through each pair of endpoints.

a) A(2,-1), B(3, 4) by C(0,7),D(3,7) ¢} G(4,-2), H(4, -5)
M: (52, ) H-(07, ) ()
- (25,19) “(is,7) =@, )
6. Use the distance formula to determine the length of the line passing through each pair of endpoints.
a) A(2, -1), B3, 4) b) C(0,7),D(-3,7) ¢y G(4,-2), H(4,-5)
= ﬁ4+{)1+ (3-2)2 = /("7-'7)21' ("5)2 = /[*54‘2)14- [‘?"4—)2
N ER =S -/g-3
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Ch. 8. Linear Equations and Graphs
ion of each line in three different forms.

o

b¥ |

Y= -2x + 3 Y= %3 - 1=3

A +Y -3=0 31 -24-1=0 2-3 =D
using (1,1) using (2.2) AMp poinit SIope
Yotz -2{2-1) -2 = 4(x-2) form ble m DVE.

2. Determine the slope and y-intercept of each line.
a) dx +2y=12 . b}ix-2y-600=0

25: —4A+12 25: 34 66D
b:: {e wm= -2 b: -~300D W= ‘%‘

3. Given the equation y = 4x + b, and a point on the graph of a line, find &.

a) 2,9) 4=a{2)+b b (3,7 7= 4{-3)+b
b=4-8= -4 b=7+2=19

4, Convert slope-intercept form to the General Form Ax+By+C=0,
a) y=—-2x+4§ by y=3x-2

3

4
3Y= 2% +18 4Y= 3A-8
24 +3Yy-1%=D 372 -44-8=0

5. Given the following equation, find the x-intercept and y-intercept. Then grapk on a separate graphing paper.

4x—-6y-12=19 f

= ~12
63 A musr haue
. 2
J* 51-2 b=-2
= .2 Rire
m 3 Run
6. Write the equation of a line in y=mx-+b, given a point on the line and the slope, m.
a) Given {~2, 5) and slope = m= -3 b) Giver: (3,~4) and slope =m=2
XY
. -4 = A(3)+ b
5= -3(-2) +b ()

b= 5+ =1l

y: -3x + {i
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7. State whether the lines in each pair are parallel, perpendicular or neither. Then determine the number of solution
for each system.

a) p=4x+3 b)y=3x-6 ¢ y=2x+6
y=4x -5 y=—203x+4 6x+3y+3=0
N PN 4
= ~x —3
Same
5= ~22 =]

Neither

/ lines
Neither

=@
8. Write an equation in y=mx + b that is perpendicular fo y = 3x — 4 and passes through a point (6, g

Gam -5 4ortiae)

Y-&5=-32+2 k’j

G- 32 +7 change to Y= mnts

9, Write an equation in y=mx + b that is perpendicuiar to 2x—y + 4 = and passes through a point a,g
Jbm= -'2" y-: AR
<

Y+é=-72+7
j:..zx _% (—’———',5

Ch. 9. Systems of Linear Equations
1. Is the given point a solution to the system of linear equations? Justify your answer.

Yrte=-3(2-1)

a)(gy:s,wm 4,7 Eghx Sy=20 (-5,~8)
p=-Tx-35 3 / x+3y=-29
4)+13 ND!

verify w/ © =
~20+4p = 20 yes!
-5+3(-8) £ -29 yer!

2. 1In the system of linear equations y = 8x + 5 and y = 8x + b, what values of & will result in a system that has

a) no solution? =» # }ind = Sape WL b) an infinite number of solutions?=d Same fvze
w/ different b. = Same m a3nd b
‘. choote ony & omher thon 5 Cob=5
3. Graph the system of linear equations on a separate graphing paper to solve the system.
o ix_z@f:? ~ 3x+4g=1"7
Ol @ 4y = =32+ 7
g FarZ

>
X-2y= -
" ay= A+

Y=zx+3
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4. Solve the system using either substitution or elimination method.

- a) y=-5x—8
- y=4x+1
&= 9% -9
9x=-9
Z= -/
= -5t-1)-8

Y=-3

d) 5=6x+2y
Zy=x+5

J Realign
A +24=5
-~ = 1+2Y= 5
54 =0
=0

Zﬂ' o+5
Y= 5

J- %

i“w«ww".

by x+y=9

—10x+ 63 =6
+ 10X + 194 =90

0+;(.y=96
Y=
A+ 6= 9
A=3

e)3x+2y=0 X 8
8x+7y=5 % 3
247 + oY= D

— 43 +214=15

—5‘5:—-!5'
j=3

3z +2(3) =0
31: -6
X=-2

Math {8 Final Review

3t(8)-249=12
-;{3.—;-»!2

g= 6

1.3

Dar =t
xa(x«:—’?y‘“ﬁ
2-34=-8
X= 3Y-8

Sub.
3’9- g+ 74 =02
DY < 2p
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Ch. 10. Arithmetic Sequence
1. Determine whether each sequences is an arithmetic sequence or not.

a. UL,;, 59,14, .. b 37,34,31.28, ...
vy AV
+2 +3 ND,. -3 -2 -3 %,ts"
2. Find the t;g9 of each arithmetic sequence.
a 10,15, L6,14, .. b. -14; =LY, ~24, ..
a=10 oA=3 = -+ d="5
two= 10+ 0op) 3 tip= -4+ (39)5)
=10+ 297 = 307 = - 509

Math 10 Final Review

Lioo= & +{99i5)

=3 ﬁ:_é’_ ﬁ_ LQE?[
50 ptwm "2

3. An arithmetic sequence has a common difference of —4 and its 37 term is 10. Find the first term.

d=~4 tar=10 = ar (37-1X%)
0= a - |4%
a= 154

4, How many terms are there in the following sequence?

716,13, ..., 391,344
tn= 394 = T+ n-1)(3)

A=17 d=3
294 = 7+3n—-3
3= 390
A= 13D HrmS
5. Ms. Yajima's 100 meter dash times for her first four races were 14 seconds, 13.4 seconds, 12.8 seconds,

and 12.2 seconds.

Assuming race times will decrease at the same rate for the subsequent race. Write the general term t,.

= 14 tn= 14+ (n#)("@-"{/—’ = -0.6n +1%6

aA=-0.6 th=14-0.6Nn+0.46

ii)What will be the time for her 12" race?

tizz -0.6(12)+ 1496 = . 4seconds!

iiiyAt which race will she have a time of 11 seconds for the 160 meter dash?

Tn=1l= -p.Cn +1%6
Oen = 3.6

N = G'H'l race
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